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lnsurance and risk management

mium and thb serial nutnber of the-

Glculating the Amount o{Loss in Fire Insurance

qRffisqF-d{ffit'tf-{rtrt
i PrinciPle of indemnitY

is sure to

from the insurani.e company'

Theschedulecontainsnameandaddressoftheproposer,briefdescriptionofthe
property insured, #'t;;;, period or lnsurun"e, perils covered, rates of

rFvant. That is whY

off the loss or legallY

I

whatever the loss may be an insurance company

lifuta to indemnify the loss of the insured'

If a property holder hasrtaken insuran@. o:'-lf|ill :""^:t:li*:i[ ffXJ:?;fi
Ll;iffXn J;ff :,::i;l}ilffi;;inJ".n i n 

"uti 
o n rrom ail insurers. rn cas e or the

i*l"tutunce the subject mattet can be more than one at a tlme'

If we talk about a warehouse where the amount of inventory varies' it is very difficult

determine the premium forthose.ur., unJin 'u" 
of loss of the property the particu

amount of loss cannot be ascertained'

In case of a specific policy it is very easy to :9*pu! the premium and loss ar

because it doesn,t *uL, what is ,h. u**rr, of loss, the indemnification will be

based on the policy value' 
; specific policy' b't if it i

If the policy is valued policy then the si1il1,m1f-o-f,]:::li 
rn cese .,r n"neral poli

TJ[ff'J:l ;"]il'*i:;u i,iii"r, ,.ti."Jr, usua'y app'ed. rn case of generar

the traditionai method of averaging' is used'
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ffiofrate fixation in fire insurance.
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Different Insurance Policies

lrrsured valuexLoss
Claim = ffict matter sn the date of accident

1000000x500000 
= Trr I ?? 1??.33.=-J5bb6m-: rK. T,JJ,JJJ

Enterprise.will received Tk.'3,33,333.33 from Sonai Bangla Insurance co'

: The oolicv is under insured. $o, the i'nsurance company i,e insurer will pay

33.33j unj tftd-Uliu*. ois'r r,iiif, bear by insured Shafat Enterprise Tk'

3,33,333.33 ) = 1,66,666.67'

How mueh'cdn Mr. Russel recover frsrn the insurance company.

Insured valuexLoss
Claim = ffi matteron the date of accident

_ 3000000x1600000 -- 2s00000

: The policy is over insUred. So, the'insurance company will pay uptg loss.Tk'

No payment. will be made over: loss, ,because insurance contract is a

contract.
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rl insured a Warehouse worth Tk. 25,00,QQ$or Tk. 30,00,000 under an average

The warehouse was destroyed by fire and the ry

19,qq,000.

Some Mathematica-l Problems &,their Sqlutions

#R ffifo-qqfi1 € Ei:iit{Fi
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nne worth Tk 100000 was insured for Tk 60000. un9:1 an average policy' The

lnas destroyed by fire and actual loss was ascertained Tk 20000' How much can

recover from the insurer?


